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Ipobn e t3 pasua / Calculate

T+ 3 T+ 3
[z+1 [2]z-1 [Bla+2 [42+3 [56]2-3
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8 Boipaskemue \/ 11 + 2+/37 4 30v/3 pasuo / Calculate \/ 114 2+/37 4 30V3

24+ 2v3 V344 24 V3 2ctg ~ + 1 2 4 tg =
3 6 3

Muorowren 18z + 3v/3 + 823 — 41/3ax? aBasieTcst mOMHBIM Ky6OM, €C/II a PABHO
/ The polynomial 18z + 3v/3 + 823 — 4v/3ax? is a complete cube if a is equal to

[1] 2v3 [2] -3 [3] —2v3 [4] 3 [5] +3

Iermy ToBapa B a py6 cHavana yseananan Ha 25%, a 3arem ymenbmman za 15%.
Ha ckoubko nponentos usmenuiach nena? / The price of a product in a rubles
was first increased by 25%, and then decreased by 15%. By what percentage

did the price change?
5% 10% 2% 6,25%

He U3MeHUuJIaCb

Ipsimast mpoxomur depes touku A(1;3) u B(4; —6). OupeeauTs KOOpAUHATHI
rouku C, npunayiexkanye 31oil nupsamoii. / The line passes through the points
A(1;3) and B(4; —6). Determine the coordinates of point C' belonging to this
line.

(-1,5:10) [2] (2,5;-1,4) [3] (1,5:1,5) [4] (3,5:3,5) [5] (127

10

-1 ¢ 5
—=2 + — = — gBJdercd
x 4 . 12

12

Haittu Takoe ¢, misi KOTOPOro peIleHne ypaBHEHUsT

Ziﬁls

c=4

x = —8. / Find a ¢ for which the solution to the equation

r = —8.
1 1
EAe=0 e} Be-p

B Tpameruu ¢ ocHoBaHUSIME \/3 U 1 OTPE30K, COEIMHSIONINI CePeIHHbI [AAr0-
nasieit, pasen / In a trapezoid with bases v/3 and 1 segment connecting the
midpoints of the diagonals is equal to

23 +2 V3-1 1 2v/3 -2
[ = Bl B gy (1 =5

El \/32-1-1

11

Boraucsuts 1g 25,17 — 1g0,02517 / Calculate 1g 25,17 — 1g 0, 02517

3 [2] 1000 [3] 10

4 HEBO3MOXKHO 6e3 Tabuur / cannot calculate without tables

e=-
r+7 x-—5 20 —1
+

5
Pemennem ypasuenus =
18 3 2
S5r+7 x—5

2z -1
s "3 2
1] -3 [2] 2 [3] 5 [4] 0,5 [5] 2

spisercd / Solve the equation

12

1
.. paBHa / Calculate Z_z

11
374 9
0,75 [2] 1,25 ﬂ 1,5 [4] o, 25

13

Bripazkemnue ((—%)3)_6 : ((—%)2>_9 + (—5_1)72 pasuo / Calculate
-6 -9 B

(D7) (7)) + (=57

24 ~25 —24 25 26

Yncio 2 dABifercs KopHeM ypasHemma |x — 3|+ +va — 1 — 2% = |2z + 2|,
ecsim a pasuo / The number 2 is the root of the equation
|z — 3| +Vva—1—22 =22+ 2| if a is equal

2 4 80 Izl 82 TaKoe HEeBO3MOXKHO / it is impossible

14

CrpouresibHas ¢pupMa MOCTPOUJIA OJUH JIOM 3a 52 JIHsI; IIPU YMEHbIIEHU! IPO-
n3BoAMTEALHOCTH Ha 15%, apyroit oM aToit dhmupmoii ObLT TocTpoeH 3a 32 mHs.
3a cKOJIbKO JHell (pupma ObI mocTpomiia 00a ToMa, eCau ObI CTPOUTETBCTBO IILIO
€ HOCTOSIHHOH npousBoauTesbHOCTBIO HA 20% Gosbiie nepBonavasbuoii? / The
construction firm built one house in 52 days; with a decrease in productivity
by 15%, another house was built by this company in 32 days. How many days
would it take the company to build both houses if construction proceeded at a
constant productivity which is 20% more than the initial one?

66 [2] 88 85 102 110

Bce 3HaueHHs @, IPU KOTOPHLIX Tpadukn GyHKIMH y = 2z, y = 2 — ax + 1 me

nepecekaiorcs, obpasytor muoxkecrso / All values of a for which the graphs of
functions y = 2z, y = 22 — axz + 1 do not intersect and form a set

(—4;+00) [2] (0;4) (0; +00) (=4;0) (—00; =4) J(0; +00)

15

Cymma x + y, vme (x;y) ecrb
{<x+2> — (@) =y,
y+2° - (-1 =z+1,

penienue CUCTEMbI yp aBHEHUN

paia / The sum z + y, where (z;y) is

2 2
the solution of the system of equations { (@+2)" = (z+1) =y +T7, is

(y+2°— (-1 =z+1,
[3] -8 [4] -2 [5] 8

equal to

BE [2] 2
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CyMMa JIefiCTBUTe/IbHEIX KOpHeil ypaBnenns 2va2 +4x + 9+ 22 = —42 +6
pasHa / Sum of the real roots of the equation 2v/22 + 4z + 9 + 2% = —4x + 6 is

equal to
[2] 3 2 -3 —4

17

s
sin 3

5, COBIAAET C MHOMKECTEOM / The

-2z

Ob6uractsb onpesiesieHust GyHKIUH Y =

sin 3
domain of the function y = 5 1n2 matches the set
— 2

(2;400) (—o0; 2) (—o0; 2) (3;400) (-%;2)

18

Paccrosiame oT TeHTpa okpyxkHoctH 2 + y? — 4x — 6y — 12 = 0 g0 Hauama
koopmuraT pasno / The distance from the center of the circle 22 + y? — 4z —
6y — 12 = 0 to the beginning coordinates is equal to

Vi3

[: B Evi [

19

(z—1)*(3 —
Bcee periennst HepaBeHCTBA, > 0 obpasyior muOoxkecTBO / All

(z-1)*@B-2)"
@2 — 521 6) > 0 form a set

[1:2) U(3; +00) (2;3)
(2:3) U(3; +00)

solutions of the inequality

(—o0; 1] U(2;3)
[4] (—o0;2)U(3; +00)

20

Pemuth  mepasencto (23 —4x)y/1—2<0 / Solve the inequality

(2% —42)/1—2 <0
(2; +00) [2] (-2;0) (—o0; —2) J(0; 1)
(—o00; —2) (—1;0) U(2; +o0)

21

Kopens ypasuaenns 7(72") = 4 pasen / The root of the equation 7(-2") = 4 is
—log, log; 2 ypaBHeHue KopHeil He umeer / there are no roots

log, log, 4 log, log, 7 —log, log, 4

22

Pemennem HepasencrBa (tg3 — tg5)(3 — z)(x — 5) > 0 ABIsS€TCS MHOXKECTBO /
The solution of the inequality (tg3 —tg5)(3 —x)(x — 5) > 0 is a set of

(—oostg5)UGi+00)  [2] (—o00;3) U(tg3;+00) (3;5)
(—00;3) U(5; +o0) (tg3;tg5)

24| Cymma nesbix perienunii nepaBercrsa |va? + 2z + 1 — 2¢ — 3| < 4 pasua / The
sum of the integer solutions of the inequality |[vz2+2zx+1—2zx—3| <4 is
equal to
-2 [Ew Es @o [
25| Bce 3Havenusa nmapameTpa a, IpH KOTOPEIX rpacduk GyHKINN y = ax? + 2ax + 2
DPACIIOJIOXKEH TTOJTHOCTHIO BhIMie rpaduka dyHkimn y = ax + 1, 06pa3yroT MHO-
xkecrBo / All values of the parameter a for which the graph of the function
y = ax? + 2ax + 2 is located completely above the function graph y = ax + 1,
form a set
0:+0c)  [2] [0:4 (05 +00) 0:4) (0;4)
26| Opnacts snavenmii dynKIMM Yy = ;1 upu x € [1;4] pasua / The range of
x
3_
values of the function y = +T for x € [1;4] is
x
[-1:0,5]  [2] [-0,21] [0,5; 1] [1; +00) [0,2;1]
27 _ 2 . a _1
Ecmu cosa = gHo € (27r,27r), TO BesmumHa cos § pasna / If cosa = 3 and
a € (§7r; 2m), then the value cos § is equal to
V3 V6 V3 1 V6
1Y @By @9 @ 89
3 3 3 6 3
28| IIpoussenenue tg3°tg6°tg9°- ... tg87° pasuo / Calculate tg3°tg6°tg9°-...-
tg 87°
: . V3
1 Izl BBIUUCJUTH HEBO3MOXKHO / impossible to calculate 5
V3 2
2¢ — 1 20 — 1
29| Ecm flz—=3) = ?;7—&—1’ ro f(z) pasua / If f(x —3) = 33;7“, then f(x) is
equal to
20 +1 20— 7 2z — 1 2z 4+ 5 7T— 2z
1 3| — 4 5| —
3r—1 Izl 3z —8 3z+1 3z + 10 8+ 3z
30| Ecam npsimas kacaercs rpaduka dyakunn y = f(x) B Touke (—1;1) u mepe-

23

Bce pemenus nepasencrsa [1+logg 5 7| < 3 0bpasyror muozkectso / All solutions
of the inequality |1 + log 5 | < 3 form the set
[16; +00)

ddl [ oesis] [ (3l [ o)

cexaer och abeuce B Touke (v/3 — 1;0), To f (—1) pasusiercs / If the straight
line is tangent to the graph of the function y = f(x) at the point (—1;1) and
intersects the abscissa axis at point (v/3 — 1;0), then f (—1) equals
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